OMB CONTROL NO.				TITLE OF I	TITLE OF INFORMATION COLLECTION REQUEST DATE PREPARED									:D	
	0579-0245					·								September 23, 2020	
TYPE	OF R	EQUE	ST		Highl	Highly Pathogenic Avian Influenza, All Subtypes, and Exotic Newcastle Diseases; Additional Restrictions								PUBLIC COMMENT DOCKET NO.	
	Renewal												APHIS-2020-0040		
POIN	POINT OF CONTACT													FEDERAL REGISTER NOTICE	
	Dr. Be	ettina	Helm	1										Vol. 85, No. 114 PG 35896	
TELE	PHON	IE NO												FEDERAL REGISTER DATE	
	(301)	851-	3300											6/12	/2020
	PART I - SUMMARY														
	TOTAL F	RESPO	NDENTS	S	TOTAL ANI	NUAL RESPONSES	% ELECTRONIC	RESI	PONSES PER RESPOND	DENT	TOTAL I	BURDEN HOURS	HOURS PER RESPO	ONSE % SN	IALL ENTITIES
	1	1,032	<u> </u>		;	3,707	60%		4			1,954	0.527		17%
							P	ART	II - LIST OF ACTIV	ITIES			1		
TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE	AUTHORITY (U.S.C., CFR, or Manual)		S.C., CFR, or	ACTIVITY DESCRIPTION (title, respondent type)	Y DESCRIPTION respondent type, and type of change if discretionary)		FORM NO.	FO	PRMAT	ESTIMATED ANNUAL NUMBER OF RESPONDENTS or RECORDKEEPERS	ESTIMATED ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PEI RECORDKEEPER	ESTIMATED ANNUAL BURDEN
(A)	(B)	(C)	(D)		(E)		(F)		(G)		(H)	(1)	(J)	(K)	(L)
E	I	X	I	9 CFR	R 94.6(b)	Application for Permit to Import Controlled Material; Import or Transport Organisms or Vectors, specifically bird carcasses or parts of carcasses - Individuals		VS 16-3		OF & ctronic	13	13	0.500	7	
E	P1	Х	I	9 CFR	R 94.6(b)	Material; Import	ermit to Import Controllor Transport Organisms ally bird carcasses or p usiness	s or	VS 16-3		OF & etronic	372	372	0.500	186
E	Р3		I	9 CFR	R 94.6(b)	Material; Import (ermit to Import Controllor or Transport Organisms ally bird carcasses or p ot for Profit	s or	VS 16-3		OF & ctronic	278	278	0.500	139
E	ı	Х	I	9 CFF	R 94.6(b)	Import Permit - Individuals (generated through e-permits)		VS 16-6A	e-pe	ermits	13	13	0.033	1	
E	P1		ı	9 CFR	Import Permit - Business (gen through e-permits)				VS 16-6A	e-pe	ermits	313	313	0.033	11
Е	P3	Х	I	9 CFR	R 94.6(b)	Import Permit - I through e-permit	Not for Profit (generateds)	d	VS 16-6A	e-pe	ermits	234	234	0.033	8

TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	AUTHORITY (U.S.C., CFR, or Manual)	ACTIVITY DESCRIPTION (title, respondent type, and type of change if discretionary)	FORM NO.	FORMAT	ESTIMATED ANNUAL NUMBER OF RESPONDENTS Or RECORDKEEPERS	ESTIMATED ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED ANNUAL BURDEN HOURS
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)	(L)
E	P1		I	9 CFR 94.6(b)	Approed Warehouse Request and Agreement to Handle Restricted Animal ByProducts (Hunting Trophies & Museum Specimens) - Business	VS 16-28	PDF	133	133	1.000	133
E	I		I	9 CFR 94.6(b)	Approed Establishment Request and Agreement to Handle Restricted Animal ByProducts (Hunting Trophies & Museum Specimens) - Individuals	VS 16-29	PDF	4	4	1.000	4
E	P1		I	9 CFR 94.6(b)	Approed Establishment Request and Agreement to Handle Restricted Animal ByProducts (Hunting Trophies & Museum Specimens) - Business	VS 16-29	PDF	40	40	1.000	40
E	I		I	9 CFR 94.6(b)	Report of Entry, Shipment of Restricted Imported Animal Products and Animal Byproducts and Other materials - Individuals	VS 16-78	PDF	139	139	0.250	35
E	P1		I	9 CFR 94.6(b)	Report of Entry, Shipment of Restricted Imported Animal Products and Animal Byproducts and Other materials -Business	VS 16-78	PDF	147	441	0.500	221
E	Р3		1	9 CFR 94.6(b)	Report of Entry, Shipment of Restricted Imported Animal Products and Animal Byproducts and Other materials - Not for Profit	VS 16-78	PDF	3	9	0.500	5
E	FG	Х	I	9 CFR 94.6(b)(5) (i)	Application of seals to shipping containers - Processing establishments and Federal governments	None	PDF	147	441	0.500	221
E	P1		R	9 CFR 94.6(b)(5) (II)(B)	Recordkeeping by processing establishments (Business)	None			2	0.083	1
E	P1		ı	9 CFR 94.6(b)(iii)	Cooperative Service Agreements - Business	None		1	1	0.083	1
E	ı	Х	ı	9 CFR 93.103(a), .201	Application for Import Permits - Individuals	VS 17-129	PDF & electronic	173	173	0.500	87

TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	AUTHORITY (U.S.C., CFR, or Manual)	ACTIVITY DESCRIPTION (title, respondent type, and type of change if discretionary)	FORM NO.	FORMAT	ESTIMATED ANNUAL NUMBER OF RESPONDENTS OF RECORDKEEPERS	ESTIMATED ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED ANNUAL BURDEN HOURS
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)	(L)
E	P1		I	9 CFR 93.103(a), .201	Application for Import Permits - Business	VS 17-129	PDF & electronic	80	80	0.250	20
Е	I			9 CFR 93.101, .201(c) (iii)(A)	Notarized Declaration - Individuals	None		139	139	0.500	70
Е	I			9 CFR 93.101, .201(c) (2)(iii)(B)	Agreement of Pet Bird Owner - Individuals	VS 17-8	PDF & electronic	139	139	0.500	70
E	I		I	9 CFR 93.101, .201(c) (2)(iii)(B)(2)	Notification of Signs of Disease in a Recently Imported Bird - Individuals	None		1	1	0.083	1
Е	FG			9 CFR 93.101, .201(c) (2)(iii)(B)(2)	Certificate for Table Eggs (Foreign Government)	None		2	174	2.000	348
E	P1		I	9 CFR 93.101, .201(c) (2)(iii)(B)(2)	Certificate for Table Eggs (Business)	None		174	174	1.000	174
E	FG		ı	9 CFR 93.101, .201(c) (2)(iii)(B)(2)	Government Seals (Foreign Government)	None		2	174	0.500	87
E	FG		I	9 CFR 93.104	Veterinary Health Certificate (Foreign Government)	None		1	139	0.500	70
Е	P1	Х	I	9 CFR 93.104	Notice of Arrival - Live Animals (Business)	None		80	80	0.160	13
E	P1		I	9 CFR 94.15(e)	Notice of Transfer - Animal Products (Business)	None		1	1	1.000	1
											0

Collection Number	057	9-0245]		
Expiration Date	10/3	31/2020			
Formula Check for Information Collections	Sui	Summary		Respondents	
A = Respondents (given)		1,032	<u> </u>		147
B = Responses per Respondent		4	S1, State Governn S2, Local Governr		-
C = Annual Responses (given)		3,707	S3, Tribal Governr P1, Business		- 452
D = Total Burden Hours (given)		1,954	P2, Farm		-
Estimate of Burden (hours/ response)		0.52711	P3, Non, Not-for-P I , Individual or H	234 199 1,032	
			<u> </u>	1	1,032
Formula Check for Information Collections	Foreign (Government	Reporting	Record Keeping	3d Party
A = Respondents (given)		147			
B = Responses per Respondent		6.31293			
C = Annual Responses (given)		928			
D = Total Burden Hours (given)		726	726	-	-
E1 = Estimate Adjustments (Responses)		928			
E2 = Estimate Adjustments (Hours)		726			
Formula Check for Information Collections	State, Loca	al, Tribal Gov't	Reporting	Record Keeping	3d Party
A = Respondents (given)		-			
B = Responses per Respondent		#DIV/0!			
C = Annual Responses (given)		-			
D = Total Burden Hours (given)		-	-	-	-
E1 = Estimate Adjustments (Responses)		-			
E2 = Estimate Adjustments (Hours)		-			
Formula Check for Information Collections	Pi	rivate	Reporting	Record Keeping	3d Party
A = Respondents (given)		686			
B = Responses per Respondent		3.146			
C = Annual Responses (given)		2,158			
D = Total Burden Hours (given)		953	952	1	-
E1 = Estimate Adjustments (Responses)		2,158			
E2 = Estimate Adjustments (Hours)		953			
Formula Check for Information Collections	Ind	Individual		Record Keeping	3d Party
A = Respondents (given)		199	Reporting		,
B = Responses per Respondent		3.121			
C = Annual Responses (given)		621			
D = Total Burden Hours (given)		275	275		
D - Total Bulueti Floui's (giveti)		215	2/5		-

E1 = Estimate Adjustments (Responses)	621		
E2 = Estimate Adjustments (Hours)	275		

Question 12 calculations?